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 = [ ]I Z t Z tn− −1( ) ( )

 = D t Z tn ( ) ( )  donde D t I Z tn n( ) ( )= − −1 ��������

=
����
������
���
���
� Z t Z t In n( ) ( )− =1 ���
��
��
���� ))(( 1 ′− tZ n ���
���


3�( )Z t Z t Z t Z tn n n n
− − −= −1 1 1( ) ( ) ( ) ( )

/ /

�: − − −Z t Z t g t Z tn n n n
1 1( ) ( ) ( ) ( )

�: − −g t Z tn n( ) ( )1  con Zn(0) = I

�+�������
����3 ( )D t Z tn n
/ /
( ) ( )= − −1

 = g t Z tn n( ) ( )−1 
��
�
(��
���
�����������
���
���
��
���
��(�
�$�
3�� D t g s Z s dsn n
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�
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X(t)-P(t) = Y(t)C(Z(t) - W(t)) + (Y(t) - V(t))CZ(t) - (Y(t) - V(t)) C(Z(t) - W(t)).
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